



Vendor Ranking

Page 1 of 1

03230914 Letting:

September 14, 2023 10:00

Contract:

E3X27-R0

District: District 3 Call Order: 009

AM

Counties: DIST/ST-WIDE,

Fed Aid No: N/A

Contract Time: 12/31/24 COMPLETION DATE

GADSDEN, LEON

Project(s): 42215127264 (*)

Contract Desc: MIDWAY OPS MAINTENANCE - FENCE REPAIR AND REPLACE

Ran	k Vendor	Bid Type E	Bid Status	Total Bid	Percent Of Low Bid
1	COLLINS LAND SERVICES, INC	Responsive Wini	nina bid	\$249,400.00	100.00%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting: 03230914 September 14, 2023 **Call Order:** 009 **Contract:** E3X27-R0

District: District 3 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 12/31/24 COMPLETION DATE GADSDEN, LEON Project(s): 42215127264 (*)

Contract Descr: MIDWAY OPS MAINTENANCE - FENCE REPAIR AND REPLACE

The work under this Work Document-Driven Contract is located throughout Gadsden and Leon Counties and consists of the removal and replacement of existing fencing. All work will be designated via Work Documents. Work may be in rural and/or urban locations along limited access highways and arterial roads, stormwater facilities, or other enclosed properties maintained by the Department. Type A wildlife fence will be replaced/repaired in compliance with the details in Appendix A. Maintenance of Traffic and Mobilization will be incidental to the pay item shown in the Bid Proposal. The budget estimate for this contract is \$250,000.00.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Alternate Item Description	Quantity Units	(1) COLLINS LAI					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ST	ORM WATE	ER MANAGEMENT	(AC				
0005 0550 10110 FENCING, TYPE A, 0.0-5.0', STANDARD	290.000 LF	25.00000	7,250.00				
0010 0550 10120 FENCING, TYPE A, 5.1-6.0, STANDARD	290.000 LF	30.00000	8,700.00				
0015 0550 10130 FENCING, TYPE A, 6.1-7.0, STANDARD	290.000 LF	35.00000	10,150.00				
0020 0550 10140 FENCING, TYPE A, 7.1-8.0', STANDARD	290.000 LF	60.00000	17,400.00				





Tabulation of Bids

Page 2 of 4

Lettin	g : 0	3230914 Se	eptember 14,	2023 Ca	III Order: 009		Contract:	E3X27-R0	
Line No / Item ID Item Description		Alternate	Quantity Units	(1) COLLINS LAND SERVICES, INC					
() in	dicates item is b	oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (8	STORM WATE	R MANAGEMEN	T (AC				
0025 FENCIN	0550 10150 NG, TYPE A, 8	3.1-10.0', STANDA	290.000 RD LF	60.00000	17,400.00				
0030 FENCIN FEATU).0-5.0', STANDAR	290.000 D LF	40.00000	11,600.00				
0035 FENCIN COATIN		0.5-5.0', W/ VINYL	290.000 LF	50.00000	14,500.00				
0040 FENCIN	0550 10220 NG, TYPE B, 5	5.1-6.0', STANDAR	290.000 D LF	50.00000	14,500.00				
0045 FENCIN WIRE A		5.1-6.0', W/ BARB	290.000 LF	60.00000	17,400.00				
0050 FENCIN COATIN		5.1-6.0, W/ VINYL	290.000 LF	80.00000	23,200.00				
0055 FENCIN	0550 10230 NG, TYPE B, 6	5.1-7.0', STANDAF	290.000 RD LF	40.00000	11,600.00				
0060 FENCIN WIRE A		5.1-7.0, W/ BARB	290.000 LF	50.00000	14,500.00				
0065 FENCIN COATIN		5.1-7.0, W/ VINYL	290.000 LF	60.00000	17,400.00				





Tabulation of Bids

Page 3 of 4

Letting	j : 0323	0914 Se	ptember 14,	2023 Ca	II Order: 009		Contract:	E3X27-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) COLLINS LA					
() ind	licates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 00	01 (S	STORM WATE	ER MANAGEMEN	Γ (AC				
	0550 10236 G, TYPE B, 6.1-7. G AND BARBED IMENT		290.000 /L LF	70.00000	20,300.00				
0075 FENCIN	0550 10240 G, TYPE B, 7.1-8.	0', STANDAR	290.000 D LF	40.00000	11,600.00				
	0550 10241 G, TYPE B, 7.1-8. WIRE ATTACHN	•	290.000 LF	50.00000	14,500.00				
0085 FENCING COATING	0550 10242 G, TYPE B, 7.1-8. G	0', VINYL	290.000 LF	60.00000	17,400.00				
	0001 STORM MANAGEME		tion Totals:	I	\$249,400.00 ¹		1		
	Co	ontract Grar	nd Totals:		\$249,400.00				



10/04/2023

Tabulation of Bids

Page 4 of 4

Letting: 03230914

September 14, 2023

Call Order: 009

Contract:

E3X27-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.